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The figures in the margin indicate
Jull marks for the questions.

Answer any five questions.

1. What are the Network Topologies ? Briefly
explain all the topologies with diagram. List
the advantages and disadvantages of each
of the topologies. Mention one practical
example of all the topologies. 20

2. (a) What are the addresses used in
different layers of OSI model ? What
are the sizes of these addresses ? What
are the uses of these addresses ? Which
layer in OSI model deals with
processes ? 2+2+4+2=10 /
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